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QUESTION NO: 1
S5000T after system startup or insert system disk (or management module) 10 minutes to

determine the system is fully booted normally, in order to carry out the upgrade.

A. True
B. False

Answer: A
Explanation:

QUESTION NO: 2

Argument about disaster recovery and data backup correct yes:

A. Disaster recovery is data backup.

B. Disaster recovery is a method of data backup.

C. Data backup is the foundation of disaster recovery.
D. The above statement is not correct.

Answer: C
Explanation:

QUESTION NO: 3

S5500T system is configured with a RAID group, RAID groups may be the reason for the
downgrade: (Choose three)

A. RAID disk group members pulled out

B. RAID disk group members were replaced by other types of hard disk

C. RAID disk bad sectors group members or other failure causes failure to read and write
D. RAID group members is set to hot spare disk

Answer: A,B,C
Explanation:

QUESTION NO: 4




Uninstall software under Linux which of the following commands can be used?

A. kill

B. uninstall
C. unload
D. rpm-e

Answer: D
Explanation:

QUESTION NO: 5

When you create a LUN cannot modify the general parameters which can only be modified when
creating, created after: (Choose two)

A. Name of the LUN

B. Slitting depth of the LUN
C. LUN ownership Controller
D. Capacity

Answer: B,D
Explanation:

QUESTION NO: 6

A full, normal RAIDS5, including real data and parity data on the disk of its members:

A. True
B. False

Answer: A
Explanation:

QUESTION NO: 7

Storage system configuration process to create LUN then create RAID

A. True




B. False

Answer: B
Explanation:

QUESTION NO: 8

Huawei SAN storage products have replaceable parts: (Choose three)
A. Hard disk

B. Controller

C. Power supply fan
D. CPU

Answer: A,B,C
Explanation:

QUESTION NO: 9

RAID1 data redundancy is achieved through what technology?

A. OX

B. Hamming code check
C. P + Q double check
D. Mirror

Answer: D
Explanation:

QUESTION NO: 10

Need at least a few hard drives when you create RAID10
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